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04 JIZHHZ2XREES 6,300 6,300 0
Odl=s & =€ 6,300
29 27| 114,109 70,935 43,174
101 @144 dl 74,578 56,870 17,708
04 JI2ZtHZ22HEE =+ 74,578 56,870 17,708
O+2% B2l A 74,578
201 et 3,800 3,800 0
01 At 22l 1,800 1,800 0
OS¢ H& ZHI(Ha=EZ 10%) 1,800
02 =224l 2,000 2,000 0
Ol=Jl € =% +¢ 2,000
202 04l 1,800 1,800 0
01 = LH 4 Hi 1,800 1,800 0
OS2 24, 22JHIA FI(0&EZ 10
%) 1,800
206 M= Hl 7,581 8,465 A 884
01 MHZ 4l 7,581 8,465 A 884
OS2 2l MM (MaE2Z 5%) 7,581
401 Al HI K 201 I 25,000 0 25,000
01 A& HI 25,000 0 25,000
429 HANE SABY 25,000
405 RHoHE S HI 1,350 0 1,350
01 AL ESH SH 1,350 0 1,350
OXz4l ZLRI & P (0AEZ 10%) 1,350
SAF & 22 100,000 58,570 41,430
= 70,000
= 30,000
201 Let24d] 5,500 0 5,500
= 3,850
< 1,650
01 At 22l 5,500 0 5,500
OMEE & MBS 2L 5,500
= 3,850
< 1,650
202 O4dl 5,000 5,000 0
= 3,500
< 1,500
01 = LH o4 1 5,000 5,000 0
OMEE & =85 2c 4,000
= 2,800
< 1,200
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Jl&: At A FM: AELRHAIN
MM MUEAEE
Col MEBAAL HE (crl ®a)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
OMEE & S 24 FXNXZA 1,000
= 700
< 300
206 = Hl 8,980 5,000 3,980
= 6,286
= 2,694
01 MHZ 4l 8,980 5,000 3,980
OM&Ed gl =23 *¢ 8,980
= 6,286
= 2,694
401 Al HI K 201 80,520 48,570 31,950
= 56,364
< 24,156
01 A& Bl 80,000 48,050 31,950
OMEE EXMF E4 80,000
= 56,000
< 24,000
03 Al S THHI 520 520 0
OMEE SNMHA 9 N=H= 520
= 364
S 156
SR L 2 (SZHA) 18,000 0 18,000
= 9,000
< 9,000
401 AIEHI L 2 0] 18,000 0 18,000
= 9,000
< 9,000
01 A& Hl 18,000 0 18,000
OS2 A 18,000
= 9,000
< 9,000
S Y RIS E 2el 73,540 64,418 9,122
101 @144 Hl 37,590 28,468 9,122
04 JIZHHZ22XREES 37,590 28,468 9,122
OZ2 44 U 223 S& S Bl A=Y 37,590
201 Let2d] 6,500 6,500 0
01 At 22l 4,500 4,500 0
OSHESXZAX (0 AEZ 10%) 4,500
02 =224l 2,000 2,000 0
OU=Jl &7 2,000
206 M= Hl 29,450 29,450 0
01 MHZ 4l 29,450 29,450 0
ORIst2el UM 2 (0= 5%) 17,100

_25_




<1

8J
[ud]

0

e

Sk

<

n0

Kio

Hl w

4,290

4,290
4,290

A 3,604

A 3,604

A 3,604

A 500

A 500

H3r
Wikd
RIS

21,916

18,116
18,116

3,800
3,800

60,274

57,068

57,068

1,206

1,206

500

500

1,500

1,500

2,000

2,000

0l &t o

12,350

26,206

22,406
22,406
22,406

3,800
3,800
3,800

56,670
28,335
28,335
53,464
26,732
26,732
53,464
53,464
26,732
26,732

i

I

fi

H

fir

H

1,206

603
603
1,206
1,206

fi

H

603
603
500
250
250
500
500
250
250

i

H

rr

H

fir

H

1,500

750
750
1,500
1,500

i

H

750
750
1,500
1,500
1,500
1,500

fi

H

fir

fir

)
30
0K

[ud]
ol
20

jellal]

101

04 DIt 22 XS+

206 M=l

01 M= dl

o]

b 0|

i~

oJ

04 JIZtN 22 XS+

rals

-

ol
2!

HEES

JERI|

O
=
=

80
0K
J
oll

30
0H
)
H0

ol

E
Ok

n0
K

T
Wi

=

202 Oddl

01 =LHOI LI

Sl

Kk

405 Ttk

=
=)

OJAHS, =2l

&0
0p
J
oll

_26_



Jl&: At A FM: AELRHAIN
Ha: NYHABE
ool NYBAAL 2B CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 At 22l 1,500 2,000 A 500
O 3I| HEE DI 1,500
= 1,500
SSAEIRII(402) 5,700 8,400 A2,700
101 14l 5,700 8,400 A2,700
04 JIZtHZ22HEE = 5,700 8,400 A 2,700
Odti= & =8¢ 5,700
HEANEE 23 ¥ 22 155,695 133,103 22,592
101 @124l 88,845 66,253 22,592
04 D12t 22 HEE =+ 88,845 66,253 22,592
OMZANEE 22 2 88,845
201 ¢4l 15,400 15,400 0
01 At 22l 5,400 5,400 0
ONEANEE A2ZH P (MAEZ 10%) 5,400
02 2324l 10,000 10,000 0
OMZANEE B222= = 10,000
202 Odl 2,700 2,700 0
01 = LH 4 Hi 2,700 2,700 0
ONEANEE 2 FT(MAEZ 10%) 2,700
206 M= Hl 23,750 23,750 0
01 M= 4l 23,750 23,750 0
OXX =& XM P (0laEHZ 5%) 23,750
401 AIEHI L 2 CHYI 25,000 25,000 0
01 A& Bl 25,000 25,000 0
OB ANEE E2ALY 25,000
LHAEHR DIt A 651,011 596,257 54,754
= 173,054
< 477,957
MEIRAH A 102,999 93,806 9,193
101 @124 44,999 31,056 13,943
04 JIZHHZ2XRHESE S+ 44,999 31,056 13,943
OANgaHz EX 44,999
201 et 39,000 39,000 0
01 At 22l 36,000 36,000 0
Ollsd Alg 42248 S(Ma=E2Z 10%) 27,000
OHFAEDAM S HAL2H(MAE 10%) 9,000
02 =224l 3,000 3,000 0
OANAZHIRA S 3,000
206 = Hl 14,250 19,000 A 4,750
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Jl&: At A FM: AELRHAIN
Ha: NYHABE
S FHAEAT JIBEH (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 M= 4l 14,250 19,000 AN4,750
OFAIZ 22| Mz S(oaE2Z 5%) 14,250
207 RO 4,750 4,750 0
03 A& & 22l 4,750 4,750 0
OdME 7L S(H&EZ 5%) 4,750
MZ22 3L 22 & SAY Heg 16,081 12,514 3,567
101 @124l 11,331 7,764 3,567
04 JIZHHZ2XNSE =+ 11,331 7,764 3,567
OANEAZEZX 212 11,331
206 M= Hl 4,750 4,750 0
01 =4l 4,750 4,750 0
OnZX&elE UMY S(olarE2 5%) 4,750
=2 283 ¥ R SEHAE 28,358 27,691 667
101 14l 14,758 12,164 2,594
4 JI2ZtHZ22HEE = 14,758 12,164 2,594
OAIg Xl &el elAbl 14,758
202 04l 11,700 12,150 A 450
01 = LH 4 Hi 11,700 12,150 A 450
OZAtOI Bl (Ol AFE 2ZH 10%) 11,700
206 M= Hl 1,900 2,499 A 599
01 =4l 1,900 2,499 A 599
OAEX 2el Xt (0l &HE 2 5%) 1,900
APXH THEH 2 OFEDl= He 13,372 20,704 AT,332
101 14l 11,472 20,704 A9,232
04 JI2ZtHZ22HEE = 11,472 20,704 A9,232
OaEEx& oA 11,472
206 M= Hl 1,900 0 1,900
01 =8l 1,900 0 1,900
O/ 22 L 22l XM (0l & E 2 5%) 1,900
L2USHESE & X 68,508 68,508 0
= 34,254
< 34,254
101 @144 dl 58,258 55,708 2,550
= 29,129
= 29,129
04 JIZHHZ2XREES 58,258 55,708 2,550
OJIZHZ2=zXNsS B 49,698
= 24,849
< 24,849
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Jl&: At A FM: AELRHAIN
M NYBYLE
ol USAEO D JIBEHA CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OJIZtHZ 2 Xt 4UHEE = 7,810
= 3,905
< 3,905
OHEZULIHERE HE= S 750
= 375
< 375
201 £B-2dH| 10,250 12,800 A 2,550
= 5,125
< 5,125
01 At 22l 8,250 8,800 A 550
OX& S Xt 8,250
= 4,125
< 4,125
02 2324gl 2,000 4,000 A 2,000
OXNERAL(RE S) 2,000
= 1,000
< 1,000
A2URHESY SH(4AHI) 6,300 8,400 A 2,100
101 @14 dl 6,300 8,400 A 2,100
04 JIZHHZ2XNESE S+ 6,300 8,400 A 2,100
Od0M= s =8¢ 6,300
otHE A 77,600 41,292 36,308
= 38,800
< 38,800
101 @144 dl 13,000 10,998 2,002
= 6,500
= 6,500
04 DIt Z2XREES 13,000 10,998 2,002
OUZEEL JIAHNIZ2XNH & E= 13,000
= 6,500
< 6,500
201 et 15,800 2,000 13,800
= 7,900
< 7,900
01 At 22l 13,400 0 13,400
OSFURZMMSY 242 S 13,400
= 6,700
< 6,700
02 =224l 2,400 2,000 400
OZ=MHHI el S 2,400
= 1,200
< 1,200
202 44l 18,600 3,000 15,600
= 9,300
< 9,300
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Jl&: At A FM: AELRHAIN
M NYBYLE
S FHAEAT JIBEH (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 = LH 4 bl 18,600 3,000 15,600
OZ AL (O HI 18,600
= 9,300
< 9,300
206 M= Hl 25,200 23,294 1,906
= 12,600
< 12,600
01 M2 4l 25,200 23,294 1,906
OoZel MM 24 s 25,200
= 12,600
< 12,600
405 TtabH S| 5,000 2,000 3,000
= 2,500
< 2,500
01 At ESFH S 5,000 2,000 3,000
OAZ212I 2 & 5,000
= 2,500
< 2,500
MEd =202 X 100,000 100,000 0
= 50,000
< 50,000
101 124 dl 15,750 28,000 A 12,250
= 7,875
< 7,875
04 JI2ZtHZ22HEE =+ 15,750 28,000 212,250
OAME XA 32 21AH| S 9,750
= 4,875
< 4,875
OdolE NEEXRA S 6,000
= 3,000
< 3,000
201 Yet2 | 36,250 40,650 A 4,400
2 18,125
=) 18,125
01 At 2t 2l 32,150 35,150 A 3,000
OX&d X s 8,250
= 4,125
< 4,125
OUSRHEARE 24cEF S 7,600
= 3,800
= 3,800
Otz SHS(SI0IMA)SHE S 1,800
= 900
< 900
OUSREH 24l S 9,000
= 4,500
< 4,500
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Jl&: At A FM: AELRHAIN
M MEEHBEE
ol USAEO D JIBEHA CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Ogdizs & MA MHAFY S 5,500
= 2,750
< 2,750
02 2324l 4,100 5,500 A 1,400
Ooxg 29Hl s 4,100
= 2,050
< 2,050
202 Od4dl 5,000 5,000 0
= 2,500
< 2,500
01 = LH 4 bl 5,000 5,000 0
OLREHE2E L HE S 5,000
2 2,500
< 2,500
206 = Hl 25,000 11,350 13,650
2 12,500
< 12,500
01 M2 4l 25,000 11,350 13,650
OUREIA2E AT Y S 10,000
= 5,000
S 5,000
OANEE =AMNME & 22 S 15,000
2 7,500
< 7,500
405 XHoHE S HI 18,000 15,000 3,000
= 9,000
< 9,000
01 AL ESFH SH 18,000 15,000 3,000
OA&EIID 2 S 18,000
= 9,000
S 9,000
UBHHEGNE S (MBHHE LM AAAY) 100,000 100,000 0
= 50,000
< 50,000
401 Al HI L = Tl 100,000 100,000 0
= 50,000
< 50,000
01 A& Hl 94,100 89,100 5,000
OYH AAAY Al&HI| 94,100
= 47,050
= 47,050
02 2feldl 5,000 10,000 A5,000
OYH AAAY 2eltl 5,000
= 2,500
< 2,500
03 Al 2 THHI 900 900 0




Jl2: Al A 2N MEIFATZTA
Ha: NYHABE
R AHAEAHAR DB A (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 gﬁ‘&i HR=2
OBH AAHAS AIE20Y] 900
2 450
= 450
SHAES T4 78,798 61,861 16,937
101 2121 d| 59,998 42,961 17,037
04 JIZtHI22NSES 59,998 42,961 17,037
OXNES SA AxxExX 59,998
201 et d| 5,600 7,500 A 1,900
01 AP 2t 2| H| 3,600 4,500 A 900
OZ24H)] A2 S(HAHEZ 10%) 3,600
02 2=2=29%4| 2,000 3,000 A 1,000
ONE2HED SXEL = 2,000
202 044 1,800 0 1,800
01 2L Y| 1,800 0 1,800
OZ2A2 AF XA S(WHAEZ 10%) 1,800
206 M = Hl 11,400 11,400 0
01 XHZ H| 11,400 11,400 0
OSME2 A YL SIIEHZE S(H&MEZ 5%
) 11,400
NEE IIEE H MES EHAIE 17,007 14,414 2,593
101 e1214| 10,499 7,764 2,735
04 J|12ZtHIZ22NEES 10,499 7,764 2,735
Ot AISSoHg &« 22| o8 10,499
206 2 I 3,800 3,800 0
01 T2l 3,800 3,800 0
OZ2A2 22| UM 2 S(HAE2Z 5%) 3,800
207 I & d| 2,708 2,850 A 142
03 Al&l o 32H| 2,708 2,850 A 142
OAMESLAETA XA S (0 AHEZ 5%) 2,708
LR AE2RZ AIE 9,038 7,067 1,971
101 @124 5,903 4,141 1,762
04 JI2ZtHIZ22NEES 5,903 4,141 1,762
OAE HdotA 22| o8 5,903
206 M = H| 1,710 1,501 209
01 X2 Hl 1,710 1,501 209
OANEAR TTHP2L (0l AE2Z 5%) 1,710
207 I & d| 1,425 1,425 0
03 A&l o 2| 1,425 1,425 0
OAME2H 32 S(HAEZZ 5%) 1,425
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Jl&: At A FM: AELRHAIN
Ha: NYHABE
ol USAEO D JIBEHA CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
AQOLE & THHH AI®E ALE X =4 2 HPI|BE 2= 32,950 0 32,950
206 M= Hl 10,450 0 10,450
01 M= 4l 10,450 0 10,450
o oAEO YU B WR S(HAED 5%) 10,450
405 TtobFH S| 22,500 0 22,500
01 AL EZFH S 22,500 0 22,500
OADIE AIAE HE (0 AEZ 10%) 22,500
SAANEES 2el 1,712,791 1,899,161 A 186,370
= 19,875
Xl 212,375
< 1,480,541
AT AA 17,679 17,679 0
Xl 12,375
< 5,304
101 @14l 4,160 4,160 0
Xl 2,912
< 1,248
04 JI2ZtHZ22EE = 4,160 4,160 0
Oogzzel& 4,160
Xl 2,912
S 1,248
401 Al HI K 201 I 13,519 13,519 0
Xl 9,463
< 4,056
01 A& HI 13,519 13,519 0
g+ 13,519
Xl 9,463
< 4,056
ANEE 22l 788,125 756,854 31,271
101 124 dl 3,000 25,750 A22,750
04 JI2ZtHZ22HEE =+ 3,000 25,750 A 22,750
OAdE2 A& o2 3,000
201 Let24d] 197,100 259,800 262,700
01 At 2teltl 4,500 28,800 A 24,300
OotlY EXIE M S(OaEZ 10%) 4,500
02 =224l 192,600 231,000 A 38,400
Ogadl & AIZ&&dl |l 192,600
206 = Hl 9,025 9,500 AAT5
01 MHZ 4l 9,025 9,500 AAT5
OA&2tel XL (0lAE2 5%) 9,025
401 Al HI K 201 I 570,000 428,180 141,820
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Jl2k AFE A FM: AELRHAIN
Ha: NYHABE
el S2ALEE 2el (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
206 M= Hl 22,800 22,800 0
01 M= 4l 22,800 22,800 0
OSEME P (M A&EZ 5%) 22,800
401 A& HIZ 2018 20,000 20,000 0
01 Al& gl 20,000 20,000 0
O=s=20t2 AME2 ZHl 20,000
MEFSAZSHA = 13,500 14,000 A 500
201 Let24dy] 13,500 14,000 A 500
03 &AL Z I 13,500 14,000 A 500
OAHE A L SHIEF(OAEZ 10%) 13,500
ATHAASSEH IS 400,000 400,000 0
Xl 200,000
< 200,000
202 Odl 3,000 3,000 0
Xl 1,500
< 1,500
01 = LH 4 Hi 3,000 3,000 0
OXNdZAE E2AE F& S 3,000
Xl 1,500
< 1,500
401 Al HIZ 201 8] 397,000 397,000 0
Xl 198,500
< 198,500
01 A& HI 394,200 394,200 0
O s2dE 22AY 394,200
X 197,100
< 197,100
03 AIE 2 THHI 2,800 2,800 0
OXNgs2dd S2AY 2,800
Xl 1,400
< 1,400
sy e 255,704 253,428 2,276
101 @124 dl 17,824 30,000 A12,176
04 JIZHHZ2XREE S 17,824 30,000 AN12,176
O==x9 & 2| =2y 17,824
201 YEt2 Ayl 176,100 161,648 14,452
01 At 22l 26,100 26,478 A378
O=%9 & 2 (Ma=EZ 10%) 26,100
02 =224l 150,000 135,170 14,830
O=%9 & HAMNE 9 S 150,000
203 YR =] 3,610 3,610 0
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Jla: ALY
=2

HH: MUBAYE
el S2ALEE 2el (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
03 A F=XH R =ZH| 3,610 3,610 0
OB SLAFRFX (M AEZS 5%) 3,610
204 HR=HAH| 45,000 45,000 0
03 SHFRAH 45,000 45,000 0
O &=l 45,000
206 M= Hl 9,120 9,120 0
01 M= 4l 9,120 9,120 0
ONE & HAEE S(OAMEZ 50%) 9,120
405 RHoHE S HI 4,050 4,050 0
01 AL EZFH S 4,050 4,050 0
O=x9 & AXNHME S(H&E2Z 10%) 4,050
=g ME=EXNEEY /S 22X 39,750 42,768 A3,018
= 19,875
= 19,875
401 AIEHI L 2 CHYI 39,750 42,768 A3,018
= 19,875
< 19,875
01 A& HI 39,750 42,768 A 3,018
Osdld 24 39,750
= 19,875
< 19,875
AHstsws2Y 11,950 10,250 1,700
201 £B-2dH| 7,200 7,400 A 200
01 At 22/l 5,400 5,400 0
OXges s & 2 72 S(oaEd
10%) 5,400
03 &AHZ2 ZHl 1,800 2,000 A 200
OK\RXY, =S8 w &M 5 Ard DA (0
AHE2ZE 10%) 1,800
206 M= Hl 4,750 2,850 1,900
01 =8l 4,750 2,850 1,900
OXtgsts NEs UsI| M= (HAE2 5%) 4,750
S8 Agdzgae 2,716,739 2,908,602 A 191,863
= 1,099,770
Xl 68,112
=) 1,548,857
A2URHESY SH(F)2 4 102,500 595,428 AN 492,928
= 71,750
= 30,750
206 M= Hl 40,500 67,428 A 26,928
= 28,350
< 12,150
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Jlat: At A M MEAGAEATL
MM MUEAEE
ool BUY MEAYBE (el @2)
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
01 =8l 40,500 67,428 N 26,928
OAUSRHESE S3LMES AHF7 LY 40,500
= 28,350
< 12,150
401 Al BIZ 201 8] 62,000 528,000 A 466,000
= 43,400
< 18,600
01 A& HI 62,000 514,250 A 452,250
OALSRF IDM2 HA 44,000
= 30,800
= 13,200
OAURHESE XL 18,000
= 12,600
< 5,400
L2URMEESYE URFA(E) 515,480 0 515,480
401 Al B2 28I 515,480 0 515,480
01 A& HI 503,940 0 503,940
OAUSTHHEEYE LIRFA 503,940
02 Zeldl 8,365 0 8,365
OAUSTHEEYE LIRFA 8,365
03 A& =2 THHI 3,175 0 3,175
OAUSTHHEEE LIEFA 3,175
AHEITHOH 2 Khel ZOI(MBHMSHEUME _F)2 4 92,200 76,300 15,900
= 46,100
= 46,100
101 @124l 77,200 72,300 4,900
= 38,600
< 38,600
M4 IR Z22NSES 77,200 72,300 4,900
Ot ol S & M 77,200
= 38,600
< 38,600
201 LB-2d| 15,000 4,000 11,000
= 7,500
= 7,500
01 At 2t 2l 12,000 4,000 8,000
ORF H JHSE s M P& 4,000
= 2,000
< 2,000
Ot ol S LM E X E &Rl 8,000
= 4,000
< 4,000
02 2322l 3,000 0 3,000
OtZHMSUELME Xt FF4I 3,000
= 1,500
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Jl &

Abed
o ArE
= oF
T O©

el NEEL-ET] (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

| < 1,500

At THOH 2 Atel EHIN(MEHSHELME _F) (M2 4,400 0 4,400

)

= 2,200
< 2,200

405 TtabF S 4,400 0 4,400
= 2,200
< 2,200

01 AL ESFH SHI 4,400 0 4,400
OJIHES dSEolls oZSMEE 7 4,400
= 2,200
< 2,200

ZESERH0SEHE ZARL(F) 26,320 0 26,320
= 13,160
< 13,160

101 14 dl 26,320 0 26,320
= 13,160
< 13,160

04 JIZHHZ2XRHEE S 26,320 0 26,320
OAXAURR s 26,320
= 13,160
< 13,160

MO RII(F) 593,686 595,782 A 2,096
= 296,843
< 296,843

401 A& HIZ 2018 593,686 595,782 A2,096
= 296,843
= 296,843

01 A& HI 526,992 561,302 A 34,310
O=IHFIIAE 526,992
= 263,496
< 263,496

02 Zeltl 62,900 28,730 34,170
O=JtRIIAY 62,900
= 31,450
< 31,450

03 Al S THHI 3,794 5,750 A 1,956
O=IHFIIA 3,794
= 1,897
< 1,897

TE(F) 542,194 445,860 96,334
= 271,097
= 271,097

401 AIEHI L 20 542,194 445,860 96,334
= 271,097
< 271,097
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Jl2t AP A FM: AELRHAIN
M NYBYLE
Helr F2E agdzdae (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 A& HI 511,222 430, 130 81,092
OZH==¢¥ 20,534
2 10,267
< 10,267
ozdzxg 65,350
= 32,675
< 32,675
OXNYGEELH (AHAURBESY) 425,338
= 212,669
= 212,669
02 Zeltl 27,100 11,206 15,894
OZHM==¢g 3,000
2 1,500
< 1,500
ozaxd 2,500
= 1,250
< 1,250
OXNYEsXL(AHHAURBESY) 21,600
= 10,800
< 10,800
03 AlE 2 THHI 3,872 4,524 A 652
OZM==d 222
=2 111
< 111
ozdzxg 588
2 294
< 294
OXNYGES}EL (AHHAURBESY) 3,062
= 1,531
< 1,531
AT AA(F) 97,303 91,039 6,264
Xl 68,112
< 29,191
101 14l 4,692 4,950 A 258
Xl 3,284
< 1,408
04 JIZH22NEES 4,692 4,950 ~258
Oogzzel& 4,692
X 3,284
< 1,408
401 Al HI R 201 I 92,611 86,089 6,522
Xl 64,828
< 27,783
01 A& HI 89,200 83,348 5,852
OLEF=NE 70,000
Xl 49,000
< 21,000
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Jl&: At A FM: AELRHAIN
M NYBYLE
ool By dPFYe CEEEED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
g2+ 19,200
Xl 13,440
< 5,760
02 Zeltl 2,574 1,869 705
OYEIXNY & Y=+ 2,574
Xl 1,802
< 772
03 Al 2 THHI 837 872 A 35
OLERZNY ¥ A==+ 837
Xl 586
< 251
AEXIARE Al (F) 103,750 80,890 22,860
= 72,625
< 31,125
401 AIEHI L 2 CHYI 103,750 80,890 22,860
= 72,625
< 31,125
01 A& HI 100,000 77,836 22,164
ORI AR 100,000
= 70,000
S 30,000
02 Zteldl 2,850 2,354 496
ORI ARE 2,850
= 1,995
< 855
03 Al =2 THHI 900 700 200
ORI AR 900
= 630
< 270
SHoEABLT AIE(F) 326,742 636, 864 A 310,122
= 228,719
< 98,023
401 Al HI K 201 I 326,742 636,864 A 310,122
= 228,719
< 98,023
01 A& HI 318,432 612,394 A 293,962
Ol et& AR 318,432
= 222,902
< 95,530
02 2feltl 6,018 14,550 A 8,532
Oolfet& AR 6,018
= 4,213
= 1,805
03 AlE 2 THHI 2,292 9,920 ANT,628
Ol E A X 2,292
= 1,604
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<1

8J
[ud]

0

e

S A

KiJ

w

<

n0

Kio

Hl w

4,400

1,800

2,600

1,000

1,000

7,800

7,800

A 12,450

A 12,450

A 12,450

A9,320

N 9,320

A5,400

N5,400

H3r
Wikd
RIS

16,600

16,600

16,600

81,500

81,500

57,000

54,000

3,000

Off &t 24

5,280
7,920
4,400

i

H

1,760
2,640

i

I

1,800
1,800

720
1,080
2,600
2,600

fir

H

i

1,040
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1,000

H

400
600
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1,000

i

W

400

600
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7,800
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4,680
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fir

H

fir

i

H

1,660

2,490
4,150

i

H

1,660
2,490
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4,150

mr

H

fir

1,660
2,490
72,180

72,180

51,600
48,600

3,600
45,000

3,000

30
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o)
oll

01 At 2t 2l bl

B0
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M0
Ho

202 04l

01 SLHOYI

SH

405 TtakH

o1

30
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oll
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0
H0
A0
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01 At 2t 2l Hl
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Jl&: At A FM: AELRHAIN
MM MUEAEE
Helr 528 Har2el (Sl & &)
A= 2A - BB SAEH) - NPAY - BES 0l &t o il HDEZ
OsJ==2(ME3) 2,100
OogeteE (2UE) 900
202 Oddl 4,500 4,500 0
01 = LH 4 Hi 4,500 4,500 0
O=SMatZe] 2= (a2 10%) 4,500
401 Al HIZ 201 8] 15,000 20,000 A5,000
01 A& HI 15,000 20,000 A5,000
OFAL, &1 =2l €& R+ 10,000
OztAl st&E4A 2| ¥ A2F WA 5,000
405 TtobH S| 1,080 0 1,080
01 AL EZFH S 1,080 0 1,080
OS2 2L CXNEIHM P (A=
10%) 1,080
Hos2y 29 767,040 616,621 150,419
2 59,903
X 100,000
& 607,137
NRHAHE 2 (F) 200,000 200,000 0
Xl 100,000
< 100,000
202 Oddl 1,500 1,500 0
Xl 750
< 750
01 = LH 4 Hi 1,500 1,500 0
OFASE2AMY SAFE Ol 1,500
Xl 750
< 750
401 Al HIZ 201 8] 198,500 198,500 0
Xl 99,250
=) 99,250
01 A& HI 197,000 197,000 0
OAIZHl 197,000
X 98,500
< 98,500
03 Al 2 THHI 1,500 1,500 0
Os2LEESAY 20l 1,500
Xl 750
< 750
ANosae 22 (5F) 447,234 300,485 146,749
101 1Al 183,684 154,735 28,949
04 JIZtHZ22HEE+ 183,684 154,735 28,949
Ol 183,684
201 YEt2 A H| 182,000 141,000 41,000
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- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 At 22l 102,000 81,000 21,000
OAt22teldl (ol &t = 2E 10%) 72,000
OttEdS2ANE B2 T2 A 30,000
02 =224l 80,000 60,000 20,000
O33=24gHl 80,000
202 (44l 1,800 0 1,800
01 = LH &4 1l 1,800 0 1,800
O bI(olarE 2 10%) 1,800
206 M= Hl 4,750 4,750 0
01 M= 4l 4,750 4,750 0
OMZHI (0l &HE 2+ 5%) 4,750
401 Al HIZ 201 Y] 75,000 0 75,000
01 A& HI 75,000 0 75,000
OAl &I 75,000
MEMHIAER0 2g XA (F) 59,902 58,068 1,834
2 29,951
< 29,951
101 @124l 59,902 58,068 1,834
= 29,951
< 29,951
04 D12t Z22HEE = 59,902 58,068 1,834
ool 59,902
= 29,951
< 29,951
=oHd ME=EXNEIY 242 2F XA (F) 59,904 58,068 1,836
= 29,952
< 29,952
401 Al HI K 201 59,904 58,068 1,836
= 29,952
< 29,952
01 A& tI 59,904 58,068 1,836
O/E SS9l 59,904
= 29,952
< 29,952
=SR2 2,423,931 2,376,759 47,172
Xl 1,050,000
=) 1,373,931
=S 22(F) 314,931 276,759 38,172
101 124 dl 263,606 223,419 40,187
04 JIZHHZ2XREES 263,606 223,419 40,187
Ol 263,606
201 Yere | 32,500 29,500 3,000
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Jl&: At A FM: AELRHAIN
MM MUEAEE
el 42HSY CERED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
01 At 22l 4,500 4,500 0
OAt22teldl (ol &t = 2E 10%) 4,500
02 2324l 28,000 25,000 3,000
O=22gHl 28,000
206 M= Hl 7,125 6,650 475
01 M= 4l 7,125 6,650 475
OMEHI (Kl A= 2 5%) 7,125
405 XH&HE S HI 11,700 17,190 5,490
01 AL EFSFHSHI 11,700 17,190 25,490
OXMSEHSHI (0 &EZ 10%) 11,700
ANga=s8 L g2 XH(F) 200,000 200,000 0
Xl 100,000
< 100,000
202 04l 1,500 1,500 0
Xl 750
= 750
01 = LH 4 Hi 1,500 1,500 0
O=Udo bl 1,500
X 750
< 750
401 A& HIZ 201 I 198,500 198,500 0
X 99,250
< 99,250
01 A& HI 197,060 197,000 60
OAl &£l 197,060
Xl 98,530
< 98,530
03 Al S THHI 1,440 1,500 260
OAIZ S HHI 1,440
Xl 720
< 720
AN 28(5F) 1,900,000 1,900,000 0
X 950,000
= 950,000
401 A& HIZ 201 I 1,900,000 1,880,500 19,500
X 950,000
< 950,000
01 A& HI 1,739,160 1,848,960 A 109,800
OAI&HI 1,739,160
Xl 869,580
= 869,580
02 Zeltl 154,000 26,790 127,210
O NgHIAXHE Zel 154,000
Xl 77,000
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Jl2: Al A 2N MEIFATZTA
M NYBYLE
©el: 222y CERED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
= 77,000
03 AlE 201 | 6,840 4,750 2,090
O AEE20HH] 6,840
Xl 3,420
= 3,420
NedEa X4 22(8) 9,000 0 9,000
201 et | 9,000 0 9,000
01 AP 22| H| 9,000 0 9,000
OgBr2AHl AF222lH] 9,000
ZX =22 6,300 6,300 0
Z o2& 22l 6,300 6,300 0]
201 et d| 4,500 4,500 0
01 AP 2t 2] H| 4,500 4,500 0
OYst2dy| AP Zeldl (ol a2 10%) 4,500
202 o4 | 1,800 1,800 0
01 2L HI 1,800 1,800 0
O 2B (0lAHE 2 10%) 1,800
T ReE et dletx o 1,339,206 1,814,548 NA4T75,342
Xl 937,422
& 401,784
QI AlA 1,339,206 1,814,548 NA4T75,342
N 937,422
& 401,784
101 Q121 H] 22,120 26,000 N 3,880
Xl 15,484
& 6,636
04 JI2ZtHIZ2 2 NEE 22,120 26,000 A 3,880
Oz B4 22,120
N 15,484
o 6,636
401 Al HI L 2 0HHI 1,317,086 1,788,548 NA4T71,462
N 921,938
= 395, 148
01 Al & H| 1,279,107 1,738,465 AN 459,358
O AIAE 423,997
N 296,798
= 127,199
oA 653,407
N 457 385
o 196,022
O XN 132,026
Xl 92,419
& 39,607
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Jl &
= ZH -
(=R B

el

Off &t 24

=

i
2

OAtE &

02 Zeltl

O AA

OEENY I=

03 Al S HHI

O AlE

=

Xl

H

H =

Xl

H

Xl

Xl

M = H

=

49,599
34,695
14,904
20,078
14,055
6.023
24,916
8,735
6,115
2,620
13,461
9,423
4,038
2,720
1,904
816
13,063
4,580
3,206
1,374
7,057
4,940
2,117
1,426

998
428

32,857

17,226

ANT,941

AN4,163

o

1,767,020

1,126,923
640,097

2,139,893

N 372,873

AEXTAREY Al E

Mo

162,000

113,400
48,600

81,000

81,000

401 AIEHIZ 2 I

Mo

162,000

113,400
48,600

81,000

81,000

02 Zeldl
O AR ALY

03 Al 2 THHI
O AR ALY

SRl

W

o

157,067
157,067

109,947
47,120

3,236
3,236

2,265
71

1,697
1,697

1,188
509

78,109

1,719

1,172

78,958

1,517

525
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Jl2t: AP A 2N MEIFATZTA
M NYBYLE
H =28 MHaHelEs (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
HEEHM AL 193,757 193,757 0
= 135,630
& 58,127
401 AIEHIZL 201 Y| 193,757 193,757 0
2 135,630
= 58,127
01 Al&H| 187,858 186,843 1,015
OHsEA 187,858
= 131,501
=} 56,357
02 2elbl 3,870 4. 111 A 241
OHAEEHN 3,870
= 2,709
& 1,161
03 Al&E 201 Y| 2,029 2,803 NTT4
OAHs=EHd 2,029
= 1,420
=} 609
AP E Al S 250,000 250,000 0
= 175,000
= 75,000
401 AlEHIZL 2 0HY| 250,000 250,000 0
= 175,000
& 75,000
01 Al& B 242,388 241,081 1,307
OAFEH 242,388
= 169,672
& 72,716
02 2teld| 4,994 5,303 A 309
OAFH 4,994
= 3,495
& 1,499
03 Al 20| 2,618 3,616 A998
OAFE 2,618
= 1,833
o= 785
ol OF & A SEX] Al A 318,432 636,864 N 318,432
= 222,902
= 95,530
201 YuHe | 1,500 0 1,500
= 1,050
o= 450
01 AF 22| H| 1,500 0 1,500
Ooll ot & Al BT 1,500
= 1,050
= 450
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Jl2: AP A A METHRATL
21 5

M MEEHBEE
He ERE MaALES CEE-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
401 Al HIZ 201 Y| 316,932 636,864 A 319,932
= 221,852
< 95,080
01 A& HI 307,282 613,299 A 306,017
Odlfet& Alg R 307,282
2 215,097
< 92,185
02 2teltl 6,331 14,012 AT,681
Ol et& AR 6,331
2 4,432
= 1,899
03 A& 2 THHI 3,319 9,553 NB,234
OoH & A X 3,319
= 2,323
= 996
MEMEER 435,440 544,299 A 108,859
= 304,808
< 130,632
201 Let2d] 1,500 0 1,500
= 1,050
< 450
01 At 22l 1,500 0 1,500
OtE =R 1,500
= 1,050
= 450
401 A& HI K 201 I 433,940 544,299 A 110,359
= 303,758
< 130,182
01 A& HI 420,729 524,879 A 104,150
Ot MEH =R 420,729
= 294,510
< 126,219
02 2feldl 8,667 11,547 A 2,880
OUEME=ER 8,667
= 6,067
< 2,600
03 A& 2 THHI 4,544 7,873 N 3,329
Ot ME =R 4,544
= 3,181
< 1,363
ArRITHOH 2 Kbl ZDI (M HH S0 =) 54,873 95,408 A 40,535
= 27,437
< 27,436
101 124 dl 45,810 75,184 N29,374
= 22,905
= 22,905
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Jl2k AFE A FM: AELRHAIN
Ha: NYHABE
Eel SR8 Ma2elE2S (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
04 JIZHHZ2XREES 45,810 75,184 N29,374
OQldl, 2=, =l S 45,810
= 22,905
< 22,905
201 et 4,063 11,224 AT,161
= 2,032
< 2,031
01 At 22l 3,063 10,224 AT,161
OZbl+=d & 224 E87Y S 3,063
= 1,532
= 1,531
02 =224l 1,000 1,000 0
ogle % 7Y S 1,000
2 500
= 500
202 4l 3,000 4,000 A 1,000
= 1,500
< 1,500
01 S LHOYI 3,000 4,000 A 1,000
O=UWaotl 3,000
= 1,500
< 1,500
206 M= Hl 2,000 3,000 A 1,000
= 1,000
< 1,000
01 =4l 2,000 3,000 A 1,000
Otz Hall ST MAM & LHEF 7L 2,000
2 1,000
= 1,000
A THOH 2 Kbl EOI(AHE HH SO ZE M) (XH2) 2,310 0 2,310
2 1,155
< 1,185
405 RHoHE S HI 2,310 0 2,310
= 1,185
< 1,185
01 AL ESH SH 2,310 0 2,310
OUZLHMAMEFL 2,310
= 1,155
< 1,185
A2USHESE LH 50,514 11,000 39,514
= 35,360
< 15,154
401 AIEHI L 2CHYI 50,514 11,000 39,514
= 35,360
< 15,154
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Jl2t AP A FM: AELRHAIN
M NYBYLE
Eel SR8 Ma2elE2S (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 A& HI 48,523 10,565 37,958
OxURMHEsE X 48,523
2 33,966
< 14,557
02 2eltl 1,466 320 1,146
OxUuRMHAasE X 1,466
= 1,026
< 440
03 Al 2 THHI 525 115 410
OAUSTHHSS X 525
= 368
< 157
LetEGE 2l 24,565 21,404 3,161
= 12,437
< 12,128
401 AIEHI L 201 24,565 21,404 3,161
= 12,437
< 12,128
01 A& HI 23,654 20,560 3,094
OFURASEE &H 23,654
= 11,976
< 11,678
02 Zteltl 671 620 51
OFURASSE 2 671
= 340
< 331
03 Al S HHI 240 224 16
OFEURASESE &H 240
= 121
< 119
SEEHS 2 =L 5,824 2,866 2,958
= 2,912
< 2,912
401 A& HIZ 201 I 5,824 2,866 2,958
= 2,912
< 2,912
01 A& 8l 5,824 2,866 2,958
OJlet sggdis g 5,824
= 2,912
< 2,912
ARG E 2 S YR (Al 266 91 175
= 266
206 2 I 266 0 266
= 266
01 MHZ 4l 266 0 266
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O&d= ZAXKH &4 NOILE 2 AHAHI
24 5,000
EMHS XoEFE =t 47,500 47,500 0
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